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9.4 Worksheet o . Period:
Plot the (r, 8) polar coordinate and find the correspondlng rectangular (x, y) coordinate.
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ordinate is given. Plot the coordinate, then find two sets of polar coordinatesin 0 < 6 < 2m.
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Covert the rectangular equation to polar form and sketch its graph.
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Covert the polar equation topalir form and sketch its graph.
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Find the points of vertical and horizontal tangency (if any) to the polar curve.
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Sketch a graph of the polar equation by hand.
26. r =1+ sin(6)
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AP Calculus BC o : ' Name:

9.5 Worksheet ' o Period:
Write an integral that represents the area of the@ @ﬁ‘mﬁw&
1. r = 4sin(0) 2. . r=cos(26)
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Find the area of the region.

3. Interior of r = 6 sin(@) 4. Interior of r = 3cos(8)
. 5 J /
_ o =y
| ‘ | b<eerm
5. One petal of r = sin(26) 6. One peta| of r = cos(56)
Y r=o atshifent ot ’l P -gmln,
‘ mv(ﬁ@)za so=T =
0.2A% _1T 3
.. )< 31:/,, °! >
J (eas(sY S “'“_g 0. ’SE’”]
"/"10 { A}
Graph the polar equation on a calculator, then find the area analytically.
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Find the points of intersection of the graphs of the equations.

0. r =1+ cos(8) ‘ , 10. r=3(1+sin(0))
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Use a calculator to graph, then find the area analytically.

13. Common interior of r = 3 — 2sin(#) and r = —3 + 2sin(6). _: L el ©
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Use YOur graphing calculator to graph and find the arc length.

16. r= 20, 0<8<2m 17. =sin(3cos(@)), 00 <m
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